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101|R#A7 L 130 10 120| Kg |EE 1,944 756 fEE 3,780 378
102|357 L 1,924 1,924 Kg BIE 1,566 800
111|&EEF £ 343 343|  Kg ®e 1,782 486
113|RAV S 125 112 13| Kg |B#% 648 189|ffE 2,807 900
114|B5EFE 214 16 198| Kg |ERES 1,404 702|EERE - BE 2,970 1,404
15[ 1= 2 2| Keg FfE 2,700
117[1E 113 27 86| Kg |EE 648 324| 5 3,780 540
121|rblE &€ 19 4 15| Kg |EE& 1,728 I35 1,944 864
134[#= = 643 211 432 Kg |B& - =4 2,300 1,200| & 2,700 1,836
137|&5E.3. < 608 452 156| Kg |BER 4,536 3,024| &R 7,131 3,240
138|Hm % 2 24 24| Kg R 3,780
140(5 I 36 36| Kg imE 73,440 21,600
147|EZ O 106 106| Kg |EE 5,400 BRE - KI5 6,000 3,500
168|BIEM AL H 291 291| Kg = 3,208 1,296
201|{Lb L 732 732|  Kg sl 1,620 108
203|/Né L 123 4 119| Kg |ERE 108 I35 432 259
205|5u8 L 20 20| Kg KI5 440
206| 1 915 915| Kg I 1,836 389
208| Mo % 148 148 Kg KI5 2,376 972
2094 B & L 88 64 24| Kg |=H 945 =5 1,080 945
210|1F ALy 156 40 116| Kg |EI 4,860 3,645 | K 4,320 3,240
212|&5E.3Y 873 873| Kg EN - B1E 2,322 1,100
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251K A FECH 74 74 Kg [#TiR 5,098

252|LWAEECA 11 111 Kg E2p;] 5,292
254|ED12ELCA 683 56 627 Kg |FFE 1,793 1,620\ E 3,186 1,080
3031 A 7Ly 12 12| Kg i 684 432
305[£Aah 0% 3 3] Kg FE 5,940 3,240
306|L e k) 5 5 Kg i 864

315|7: B9 6 5 5| Kg = I 1,944
319|h o 432 432 Kg BJE 2,160 459
33213 WA =EF 268 268 Kg bF 2,916 1,782
3bl{HHV 29 9 20 Kg |2 5,400 3,780( =4 15,120 3,672
35411Fx£ <Y 116 85 31 Kg |FFE 1,404 1,296|F% 1,728 1,134
355(mp Y 100 100 Kg time - FE 1,296 600
356(L L& 20 20 Kg SER 1,080 864
357|7RE 69 69 Kg FE 4,104 1,080
358|KE 10 10| Kg FAN 2,700 1,728
362| & 588 588| Kg N 4,320 630
401|H W 14 141 Kg Iz & 2,160 1,836
4025 & 5 5 Kg A0 5,616
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512| A& AL 40 40| Kg b 1,450 918
523| A EARAT 2 O 372 372| Kg =] 4,104 1,194
54| ARE & 2V 286 286| Kg hE 1,740 1,242
Bh4| X IE BWA AR 10 10| Kg b 950
558| 50 50| Kg b 972
560|487 2 218 218| Kg =] 3,666 1,700
566|4R A < 21 21| Kg b 5,000 3,666
57648 & 1F 50 50[ Kg b 1,100
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70110 BA 434 115 319 Kg |EE 4,215 3,950| & 1,998 1,620
71019 2 ®HA0F 12 12 Kg = I 1,163
713|L L» HHF 14 14] Kg bF 1,144
BlEFAI L 14 14 Kg SR 2,592
755|FH&» C 45 45  Kg = 994 728
7611 b BHAEL 12 12 Kg EE 2,469 2,160
763| Z AMC 41 41 Kg |&&E 3,411 2,700
B01[IBAL = 1S 233 233 Kg ¥ -mA 2,646 108
802|1 x| 38 381 Kg mE 1,404 473
8051 1E 1,516 1,516] Kg JbF 1,080 594
807|1BHDF 393 393 Kg bF 10,260 2,808
810|BAKTF 262 2621 Kg biF 2,160
815|—¥9 A ZE 20 201 Kg mE 1,296
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